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Prototype C4RhScg

AFLOW prototype label A4BC3.m(C32_.12_2j_i_ghi-002
ICSD 415136

Pearson symbol mC32

Space group number 12

Space group symbol C2/m

AFLOW prototype command  aflow --proto=A4BC3_mC32_12_2j_i_ghi-002
—~params=a, b/a7 C/CL, 67 Y1,Y2,T3,23,T4,24,T5,Y5, 25, L6, Y6, 26

Other compounds with this structure
SC;),COC;;7 SC3ITC4, SCgNiC4, SC3OSC4, SC3RhC4

e This is the low temperature structure of ScsRhCy. At room temperature it takes on a slightly distorted version of the
Sc3CoCy structure.

Base-centered Monoclinic primitive vectors

a; = %ai—%by

1 s 114
as = 50X+ 50§
ag = ccosfX+csinfz
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Basis vectors

Lattice Cartesian Wyckoff Atom
coordinates coordinates position type
B, = —y1a1 + y1 as = byry (4e) Sel
B, = Yyrar —yiaz = by y (4g) Scl
Bs = —ysa; + yoas + %ag = %ccosﬁi—l—bygy—l— %csinﬁi (4h) Sc 11
B, = Yoa; — Yo as + %ag = %ccosﬁfi—bygy—l— %csinﬁi (4h) ScII
B = r3ay, + r3ag + z3 a3 = (axs + czzcos B) X + czzsin S 2 (4) Rh1
Bsg = —T3a] — T3ag — 23 a3 = — (axs 4+ cz3cos ) X — czgsin f 2 (4i) Rh1
B, = Taa] + Tgas + 24a3 = (axy 4 cz4cosB) X+ cz4sinf 2 (4i) Sc III
Bg = —X4a] — TgAy — 24 A3 = — (axg + czqcos8 ) X — czasin B2 (4i) Sc I1I
By = (x5 —ys5) a1 + (5 + y5) as + = (axs + cz5c08 8) X+ bys § + cz5sin S 2 (8j) CI
25 a3
Bio = —(z5+ys)a;—(z5—ys)as— = —(axs+czscosf) X+bysy —czssinfz (8j) ClI
Zy asg
Biin = —(ws—ys)ar— (w5 +ys)az— = —(avs+czscosfB) X—bys§ — czssin B2 (83) ClI
Z5 a3
Biz =  (zs+ys)ai+ (w5 —ys)aa+ = (aws tezpcosf) R—bys § + cassinf2 (8)) CI
Zy asg
Bizs = (w6 —ys) a1+ (w6 +ys) a2+ = (axe + czg cos ) X + bye ¥ + czesin B 2 (83) cn
Zg A3
Bis = —(z6+ys)ar— (6 —vs)az— = —(axe+czecosfB) X+bysy — czesin 2 (8) cl
Ze A3
Bis = —(v6—%s)ai— (6 +ys)az— = —(awe+czecosf) X —bysy — czesin B2 (83) cn
Zg A3
Big = (v6+ys) a1+ (76 —ys) a2+ = (aze + cze cos ) X — by § + czesin 32 (8) cl
Zg A3
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